PISCO.

ELECTRIC CYLINDER SERIES

PSB/PHB

INDEX

574 Features

Total Preview

Standard Accessories

PSB Series

PHB Series

AEARY AHE B9 48

Electric Cylinder Purpose of Use And Applications

u N W R

12
20



PSB/PHB =3
—/ O [ Features

CO2 HiEE, 2H|HUE U=F 2L

Reduced amount of CO2 emission and power consumption

ALE AZHOf Blo T 27t 2 REY S2EH0| THH[ot0 2f 70% 7110]

M3 ADE FQ & Q& |0} For more information

The power consumption can be reduced until about 70% as compared with pneumatic Please scan
cylinders which has larger power consumption than operating time.

A(&)StS 0 1(=)5tE
MNPy e

Available all models from light payload to heavy payload

PSB Series

45ks - 14 0|88
For transferring with light load and high speed
Ball Screw Type

D ;
Stable repeatability ._ |X| IE %,E

= A52 (BALL SCREW) AF20] 2l3f BHEQ|X| MU Z Sts LTt

Stable repeatability according to using ball screw.

Ciofst BEI| XiZ0| Tks Chost S22l OI2E HafSuam

Various motors can be applied Various mounting bracket(Option)

SERVO / STEP 2E{ 2| X 80| 7t55tH S0
= OF2E B2iZ19] AF80| 7hs &Lt
It is possible to use SERVO, STEP motors and - . e e .

mounting brackets for its usage can be applied. FF:2CZ ZUX OIRE FM:ZE OIRE FSL: £X|2t = OIRE TRN: Eg|UY OIRE

Flange on load side Foot mount Axis right angle foo mount Trunnion mount




SCHE H 7H- 45 H1910] E0|

Easy to change speed and acceleration - deceleration

OOURICS ChH| =% 2 7h- 2% 80| 0I5t SBEIGIT HI3t XY

O =<

It is suitable for complex and precise operations as easier to change speed and
acceleration - deceleration than pneumatic cylinders,

S ASIOMHA / O QX|AH TS

Excellent stability / multi—positioning

SZHEX|0l 25 ZH[o] P H S StESIUC M, CHY |IXIZFO| 7tsELICH (0o A - o)
Excellent stability according to intermediate shutdown and multi-positioning (as compare with pneumatic cylinders.)

PHB Series

5tE - KL 0158
For transferring with heavy load and middle-low speed
Ball Screw Type

OE:I I:IEI-A|_I-O | % O | c>|_I- ?'_XL Structure which is easy thermal emission

T(E)24, BYES TEZ FUM0| SO[BHLL,

It is easy to release thermal according to its high stiffness and compact structure.

=(£ O o — = (o] M2 S
CHE(28)2 S7|2%M0] 7ts 1532 EX2E FEE =
It is possible to operate simultaneously with multi—axes High durability with heat treatment of operation axis
BN HAEE20]| ol (282 S712% 0t 7|A X2l I(@E)UTES 57| 2o 1552 dM6to] Hrde sdEUnh

SA2H0| 7S

It is possible to operate multi-axes simultaneously and
mechanically with motion controller.

For high durability, the operation axis is treated by heat.



TOTAL PREVIEW

PSB/PHB Series
--—---

mm /sec

Vertical Payload Ta=0.2s 20
[146 0.143 0.253 250/ 500 0~300 100

Horizontal Ta=0.2s 40

PSB

Vertical Payload Ta=0.2s 30
062 0.205 0.339 250/500 0~300 200
Horizontal Ta=0.2s 60

mm /sec

Vertical Payload Ta=0.2s 85
[J62 0.813 1.149 250 0~500 400
Horizontal Ta=0.2s 200

Vertical Payload Ta=0.2s 160
180 1.627 2.476 250 0~500 750
Horizontal Ta=0.2s 300

PHB
Vertical Payload Ta=0.2s 300

J1o00 4.858 8.025 500 0~500 750
Horizontal Ta=0.2s 600

Vertical Payload Ta=0.2s 500
120 8.76 9.975 330 0~500 1KW
Horizontal Ta=0.2s 1,000

%|Load Capacity= 7|& RE{Q| ASX| ZHILICt 2E| HHA A| Load Capacity 2t A& L HEEIL|CEH
¥ Load Capacity is the value of standard motor. If change the motor, Load Capacity value may vary or increase.

B PSB/PHB Series Screw  £7 Features

Ball Screw

E=|E|3|- T YEk5t =2y Convenient and smooth assembly.

=0 oy

O|X| HAMT (X2 Ig) High position determination (Precision)

ni ﬁgg High efficiency.
HC i s Smooth driving




PSB OODS Q

PHB OIS

Type Fig no. Description Model Applicable Products
1 Front Flange FF
5 Foot Mount(Front) PSB 046S(P), 062S(P)
M PHB 062S(P), 080S(P), 100S(P), 120S(P)
2-1 Foot Mount(Rear)
Foot Side Lug(Front
Mounting 3 oot Side Lug(Front) FsL PSB 046S(P)(G), 062S(P)(G)
21 Foot Side Lug(Rear) PHB 062S(P)(G), 080S(P)(G), 100S(P)(G), 120S(P)(G)
4 Trunnion(Center) TRN-M
‘?’ 41 Trunnion(Rod%) TRN-F PSB 046S(F), 0628(P)
A PHB 062S(P), 080S(P), 100S(P), 120S(P)
g 4-2 Trunnion(Motor%) TRN-R
A
R a Rod end Bearing(LIAL RB-N PSB 046S(P), 062S(P)
D
A a-1 Rod end Bearing(LEA}) RB-B PHB 062S(P), 080S(P), 100S(P), 120S(P)
8 b Y-S (YLD PSB 046S(P), 062S(P)
E YK
g b-1 Y-HZ(£LAD PHB 062S(P), 080S(P), 100S(P), 120S(P)
g c -2 (LD PSB 046S(P), 062S(P)
I K-1
g End cl L2 (ALIAD PHB 062S(P), 080S(P), 100S(P), 120S(P)
Sffzstels d Floating Joint(LEAD PSB 046S(P), 062S(P)
FJ
d-1 Floating Joint(LEAD PHB 062S(P), 080S(P), 100S(P), 120S(P)
e Wk 32H|A c-1
. 24t 23H|A I PHB 062P, 080P, 100P, 120P
f1 24t 3z2fH| A gl CcB-2

%End Effectors £ Accessories MEA| AFH29|7F ZIQEH|CE % When applying Accessories for End Effectors need to be consulted.



25

series

For more information
Please scan

&F0|F OtcClo|E
Aluminum anodizing

Zots X TAE HS HF0|0|E

Electric actuators for lightweight and high speed

2 A3% Et
Ball screw type

=| AlO|= 046 - 062

Body size 046-062

2 /HE / 70|=
Straight/Parallel/Guide



PSB Series

b
Mo

ol
1>

| Order Information

[ o2 )-[300]-[3]10][3 - 2 -[rsx

@ @ ©) @ ® ® O ©

O A Type

‘ PSB ‘ = A3F ER Ball Screw Type

@ 2| Al0|= Body Size

046 | 046 062 ae62

S : X Straight Type P : 2 Parallel Type G : 7I0|E Guide Type

@ AEZ3 Stroke

| 50 | 50mm | 100 | 100mm | 150 | 150mm
| 200 | 200mm | 250 | 250mm | 300 | 300mm
® 2E| EtR Motor Type
| S | Servo T Step
® ZE| 22F Motor Capacity
7= 22F(W) 046 062
10 100W ®
20 200W ®
x 2E| W 247 MEL IR Saol 2050 FUAIR.
Please contact your nearest sales office for motor and reducer selection,
@ E20|3 B2 Motor Brake
| None | Without Brake B | With Brake
MM £2F Auto—s/w Q'ty
\ 1 | 174 2 27K N 7k
© Ot2E E2lZl Mount Bracket (Option)
 FF | 2c5 23X FM | X O0lRE FSL ExzZ Zoie | TRN | E3UY oi2E
Flange on load side Foot mount Axis right angle foot mount Trunnion mount

X OI2E Saj2IS MetaterelLc

= ==

Mount bracket is option.



I_' Smart Actuator

At Specifications
st= A PSB046 PSB062
E2X| AFO|= Body size mm O46 o62
E2E 2| Rod diameter mm # 20 # 25
ATR EZA Screw diameter mm 12 #12
ATE 2|E Screw lead mm/rev 5, 10 5, 10
Hh= 4 Reapeatability +mm 0.05
Z|CHAEZ 3 Max stroke mm 0~300 0~300
Z|CH&S = Max speed mm/sec 250, 500 250, 500
5l Force (X—axis, Z—axis)(%) Kgf X :40 Z: 20 X :60 Z:30
7| =2 XHZ! Basic materials £2H 2 =20|= OF=CIO|Al Black Aluminum anodizing

2 7|1&E 2EC| AsX| UALICH 2E

=zZF Weight

g Al glof 3t

S AL
&3S HHS

X Force is the value of standard motor. If change the motor, Force value may vary or increase.

2l HE=[L|C}

AEZST =™ Et (PSBO DO OS) = EM (PSBO O OIP) Zlo|= El (PSBO O COIG)
Stroke Straight type Parallel type Guide type
(mm) 046 062 046 062 046 062

50 1 2.3 1.1 2.3 1.6 3.6
100 1.2 2.8 1.8 2.8 1.9 4.2
150 1.4 3.2 1.5 3.2 2.2 4.8
200 1.6 3.6 1.7 3.7 2.5 54
250 1.8 4 1.9 4.2 29 6
300 2 4.5 2.2 4.5 3.2 6.6
S =l=El! Straight type
]
G T T
s3 il | ——©] Liig?
ol 'z 1
L | | Fo—— |1 )
B
S(Stroke) A
u i ! N
“=pg| n_———————1 — |
—H [ , =y
H | I )
C
E
rEZS PSB046 S
Stroke A B C D E E G H | J K L M N
50mm 39 20 168 52 220 220 M10 x 1.25 @32 12 14 36 46 - 345
100mm 39 20 218 52 270 @20 M10 x 1.25 232 12 14 36 46 - 345
150mm 39 20 268 52 320 220 M10 x 1.25 @32 12 14 36 46 - @45
200mm 39 20 318 52 370 @20 M10 x 1.25 232 12 14 36 46 - @45
250mm 39 20 368 52 420 220 M10 x 1.25 32 12 14 36 46 - @45
300mm 39 20 418 52 470 220 M10 x 1.25 32 12 14 36 46 = 245
AEZH PSB062 S
Stroke | A B © D E E G H I J K L M N
50mm 57 32 182 70 252 @25 Mi4 x 1.5 42 12 21 48 62 - 26.5
100mm 57 32 232 70 302 @25 M14 x 1.5 42 12 21 48 62 = 26.5
150mm 57 32 282 70 352 @25 Mi4 x 1.5 42 12 21 48 62 - 6.5
200mm 57 32 332 70 402 @25 Mi14 x 1.5 @42 12 21 48 62 - 6.5
250mm 57 32 382 70 452 @25 M14 x 1.5 @42 12 21 48 62 - 6.5
300mm 57 32 432 70 502 @25 Mi14 x 1.5 @42 12 21 48 62 = 6.5

*2 HIE MMl £2E LIS U BE XEO| AYe Bl B

IS 2lsto] APH oflzglo] HAE 4~ AELCh

s The contents of this manual and all product specifications ar e subject to change without prior notice for quality improvem ent.



2] 4= % Dimension (mm) = Smart Actuator

P wH=E1Q! Parallel type

R .
58 B (s !
—d J) = [
—t S0 ° ‘ e
L N ‘
B
S(Stroke) A
; @J !
=
g L]
\
Fﬂj i
L_i i
C D
E
XrEZT PSB046 P
Stroke | A B C D E F G H [ J K L M N
50mm | 39 20 168 37 205 @20 @ MIOx125 @32 12 14 36 46 915 @45
100mm | 39 20 218 37 255 @20 @ MIOx125 @32 12 14 36 46 915 @45
150mm | 39 20 268 37 305 @20 MI0Ox125 | @32 12 14 36 46 915 @45
200mm | 39 20 318 37 355 @20 @ MIOx125 @32 12 14 36 46 915 @45
250mm | 39 20 368 37 405 | @20 | MIOx125 @ @32 12 14 36 46 915 @45
300mm | 39 20 418 37 455 @20 MI0Ox125 @32 12 14 36 46 915 @45
rEZFH PSB062 P
Stroke | A B C D E F G H [ N K L M N
50mm | 57 32 182 44 26 @25  M4x15 @42 12 21 48 62 129 | 266
100mm | 57 32 232 44 216 @25  Midx15 g4 12 21 48 62 29 | @66
150mm | 57 32 282 a4 326 @25 | M4x15 g4 12 21 48 62 29 | 266
200mm| 57 32 332 44 376 @25  Midx15 ga2 12 21 48 62 129 | ©66
250mm | 57 32 382 a4 426 @25 | M4x15 g4 12 21 48 62 129 | 966
300mm| 57 32 432 a4 476 @25 @ M4x15 @42 12 21 48 62 129 | ©66

X2 HE M0 +EE UHE H 2E MF2 M2 S| S 2I6t0] AT o @lo] HAE & UASLICH
s The contents of this manual and all product specifications ar e subject to change without prior notice for quality improvemen t.



*| <= Dimension (mm)

G 7I0|=Et! Guide type

E;

B I =
L L —
D
2x2-L Y'L" oM
1o/ —
$€%/A — { } @—m 4
olul @1 o-lo 0 EL I j
[
sl il —
. J $\—2x2-N
H |8
S(Stroke) A
2rERT PSB046 G
Stroke | A B C D E F G H | J K L M N
50mm | 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
100mm =~ 33 14 128 46 12 30 100 38 84 26 50 @65 M6 M5
150mm | 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
200mm 33 14 128 46 12 30 100 38 84 26 50 @65 M6 M5
250mm | 33 14 128 46 12 30 100 38 84 26 50 @65 M6 M5
300mm 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
ArERT PSB062 G
Stroke | A B C D E F G H [ J K L M N
50mm 4 16 164 62 146 42 132 44 18 30 68 @85 M8 M6
100mm | 41 16 164 62 146 42 132 44 118 30 68 ©85 M8 M6
150mm | 41 16 164 62 146 a2 132 44 18 30 68 085 M8 M6
200mm | 41 16 164 62 146 42 132 a4 118 30 68 ©85 M8 M6
250mm | 41 16 164 62 146 a2 132 a4 18 30 68 @85 M8 M6
300mm | 4 16 164 62 146 42 132 a4 118 30 68 ©85 M8 M6

%F PHEE(FM) 541-& 7ho] = EFglol] 4] g-o] &b th

s Foot mount (FM) option is not applicable to guide type.

*E2 HE M| 22E LS Y RE NEO| ARIS ZHO| HAS /501 ALK 00| B 4 UsLICH

x The contents of this manual and all product specifications ar e subject to change without prior notice for quality improvem ent.



By

FF =c== =Zaix| of2E Flange on load side

e L
|
L

= 0F2E Foot mount

X|4= Dimension (mm)

A B C D E
86 46 70 30 12 6.6
110 62 90 42 12 29

%= Dimension of Mount Bracket (mm) = Smart Actuator

Tit LH =

X|4= Dimension (mm)
B C D E P G H | J K L M
54 31 32 21 30 16 6 R2.75 67 82 26.5 10
74 43 32 20 44 20 8 R4.5 85 104 = @85 12



11

Y

Body Size A
0046 82
0062 104

X% Dimension (mm)

B C D
16 67 15
20 85 20

TRN E3{4%1 0f2E Trunnion mount

@

——

418% :q[%
Eﬁ@- =

=

10

=z

Body Size A
0046 87
0062 122

|
|

i [| =

j L \
TRN-M
|4 Dimension (mm)
B © D
67 6 10
98 8 12

57

78

28

40

@6.6

@8.5




EHB

series

e=0l= Ot=C}olE

Aluminum anodizing

1sks 2 K= TS A0 0]E
Electric actuators for For transferring with heavy load and middle—low speed

2 AS2 EQY
Ball screw type

=x| AO|= 062 - 080 - 100 - 120
Body size 062 - 080 - 100 - 120

For more information I—|IEE:| / I:c|:>|EE=I / 7|'O|E
Please scan Straight/Parallel/Guide

12



PHB Series

FE84| Order Information

[ ooz 5/-(500 -5 40 - 2]- ot

o ® o @ ® ©® @ ©
@ A4 Type
| PHB | = A3 Z EF Ball Screw Type

@ 2x| AlO|= Body Size
‘ 062 | o062 | 080 | 080 | 100 | 0100 | 120 | 0120

@ &4 Shape

S ! A& Straight Type P : HZ Parallel Type G : 710|E Guide Type

@ AEZ3 Stroke

‘ 100 | 100mm | 200 ‘ 200mm | 300 | 300mm
. 400 | 400mm | 500 | 500mm
% 500mmoO|&e| Atfof tHsiAM= EF2 thSaLICh
For specifications of 500mm or more, special order is availabl e.
® ZH E}! Motor Type
‘ S ‘ Servo | T Step
® 2 E| 2F Motor Capacity
U= 22 (W) 062 080 100 120
40 400W )
75 750W o o
100 TKW ()
% SE| 9 Z47] Y2 ke FYA 29/510] FUAIL.
Please contact your nearest sales office for motor and reducer  selection.
@ =28|0|= 82t Motor Brake
| None | Without Brake B | With Brake
MM £2F Auto—s/w Q'ty
© OFRE =22 Mount Bracket (Option)
 FF  RSE2ZWX  FM | EORRE (FSL | ZXZtZORRE  TRN ELY ORE
Flange on load side Foot mount Axis right angle foot mount Trunnion mount

X OF2E Hef2le MEfA]L|Ct
Mount bracket is option.



I_' Smart Actuator

A Specifications

st a4 PHB062 PHB080 PHB100 PHB120

EX|| AtO|= Body size mm 062 080 0100 0120

EE XA Rod diameter mm 25 32 @45 #50
AT = XA Screw diameter MM $ 16 % 20 % 32 é 40
AT E 2| Screw lead mm/rev 5 5 10 10

HH= A Reapeatabilty +£mm 0.05

Z|LHAEZ 3 Maxstoke  mm 0~500

Z|CH&S = Maxspeed  mm/sec 250 250 500 330

2l Force (X-axis, Z-axis)(¥) kgf | X:200 Z:85 X:300 Z:160 @~ X:600 Z:300 X:1000 Z:500
7 | =L XHZ! Basic materials 2 20|= OF=CHO| &l Aluminum anodizing White

%82 717 BEfo] MEX| LItk B WY Al Blof 2k 45 2 HsEU,

O X =

% Force is the value of standard motor. If change the motor, Force value may vary or increase.

=2F Weight

AEES 13 Efd (PHBOOOS) Y3 EIY (PHBOOOP) 7iol= Ef! (PHBODOOG)

Stroke Straight type Parallel type Guide type

mm} 062 080 100 120 062 080 100 120 062 080 100 120
100 3.5 6.0 13.5 20.8 3.0 6.5 1.0 20.4 4.5 8.0 16.0 24.0
200 4.0 6.7 15.0 234 3.8 7.7 12.5 23.0 5.5 9.5 18.0 275
300 4.5 7.7 17.0 26.0 45 9.0 14.5 25.4 6.5 10.5 | 20.0 | 30.5
400 8.8 8.7 19.0 28.4 5.2 10.5 16.0 28.0 7.5 1.5 22.0 | 335
500 6.0 9.7 21.0 31.0 5.8 1.5 18.0 | 30.5 8.5 13.0 240 | 36.5

14



Z| =X Dimension (mm)

S =xizefel Straight type

P 1] )
g[%J%g,j%iii 0 I I
| | o— | )
B
S(Stroke) A
i i s
-
. — — i ,,E}
| | | ]
C D
E
XEZ3F PHB062 S
Stroke | A B C D E F G H | J K L M N
100mm | 30 18 278 72 350 @25 MIOx15 @ @42 @23 19 48 62 - 066
200mm | 30 18 378 72 450 | @25 MIOx15 | @42 @23 19 48 62 - 066
300mm| 30 18 478 72 550 | @25 | MIOx15 @42 @ @23 19 48 62 - 966
400mm | 30 18 578 72 650 @25 MIOx15 @ @42 @23 19 48 62 - 66
500mm| 30 18 678 72 750 @25 MIOx15 @42 @23 19 48 62 - 266
AERH PHB080 S
Stroke | A B C D E F G H | J K L M N
100mm | 30 18 313 90 403 @32  M4dx2 @56 | 930 24 64 80 - 29
200mm | 30 18 43 90 503 @32 < Mdx2 @56 @ ©30 24 64 80 - 29
300mm| 30 18 513 90 603 @32 M4dx2 @56 | ©30 24 64 80 - 29
400mm| 30 18 613 90 703 @32  Mi4x2 @56 @30 24 64 80 - 29
500mm| 30 18 713 90 803 @32 Mdx2 @56 | ©30 24 64 80 - 29
XrEZF PHB100 S
Stroke | A B C D E F G H | J K L M N
100mm | 50 35 383 102 @ 485 | @45 | Mi6x2 | @74 Q@42 34 80 100 - o1
200mm | 50 35 483 | 102 585 | @45 @ Mi6x2 | @74 @42 34 80 100 - o1
300mm| 50 35 583 | 102 = 685 | @45 @ Mi6x2 @ ©74 Q42 34 80 100 - o1
400mm | 50 35 683 102 785 | @45 @ MI6x2 | @74 @42 34 80 100 - o1
500mm | 50 35 783 102 885 | @45 @ MI6x2 | @74 @42 34 80 100 - o1
rERFH PHB120 S
Stroke | A B C D E F G H | J K L M N
100mm | 50 35 438 | 132 570 = ©50 M20x25 @74 | @48 @ 36 9 120 - @14
200mm | 50 35 538 | 132 670 @50 M20x25 ©74 @48 @ 36 9 120 - o014
300mm| 50 35 638 = 132 | 770 ©50 M20x25 @74 | ©48 @ 36 9% 120 - 014
400mm | 50 35 738 132 | 870 @50 M20x25 @74 @ @48 @ 36 9 120 - o014
500mm| 50 35 838 132 970 = @50 M20x25 @74 | @48 @ 36 9 120 - 14

*E HIZ YN0l £2E LIS L RE NSl AU 2| FAS 2l5to] AN ofngio] HHE 4 UsLICh
% The contents of this manual and all product specifications ar e subject to change without prior notice for quality improvem ent.



%] 4= Dimension (mm) = Smart Actuator

P =i21Etel Parallel type

S -] %E%B

S(Stroke) A

C D
E

2EZF PHB062 P

Stroke | A B C D E F G H | J K L M N
100mm | 30 18 278 42 320 | @25 MIOx15 @4 @23 19 48 62 134 966
200mm 30 18 378 a2 420 @25 MIOx15 @42 @23 19 48 62 134 966
300mm| 30 18 478 a2 520 @25 < MIOx15 @42 ©23 19 48 62 134 @66
400mm | 30 18 578 a2 620 ©25 MIOx15 @42 ©23 19 48 62 134 966
500mm| 30 18 678 a2 720 @25 MIOx15 @42 @23 19 48 62 134 @66
ArEZH PHB080 P

Stroke | A B C D E F G H | J K L M N
100mm | 30 18 313 54 367 @32 M4x2 @56 ©30 24 64 80 74 | @9
200mm | 30 18 M3 54 467 @32 Mi4x2 @56 @30 24 64 80 74 | @9
300mm| 30 18 513 54 567 @32 Mi4x2 @56 ©30 24 64 80 74 | @9
400mm | 30 18 613 54 667 @32 Mi4x2 @56 @30 24 64 80 74 = @9
500mm | 30 18 713 54 767 @32  Mi4x2 @56 ©30 24 64 80 74 @9
2~ERF PHB100 P

Stroke | A B C D E F G H | J K L M N
100mm | 50 35 383 62 445 @45 | M6x2 | @74 @42 34 80 100 214 g
200mm 50 35 483 62 545 @45  MI6x2 @74 @42 @ 34 80 100 214 @
300mm| 50 35 583 62 645 @45  MI6Xx2 @74 @4 @ 34 80 100 214 | @
400mm | 50 35 683 62 745 @45 @ M6x2 @74 @42 @ 34 80 100 214 @
500mm| 50 35 783 62 845 | @45 Mi6x2 | @74 @42 34 80 100 214 o1
rEZT PHB120 P

Stroke | A B C D E F G H | J K L M N
100mm | 50 35 438 70 508 | @50 M20x25 @74 @ ©48 36 ) 120 @ 267 g@l4
200mm 50 35 538 70 608 @50 M20x25 @74 @48 36 ) 120 267 @ g@l4
300mm| 50 35 638 70 708 | ©50 M20x25 @74 @ ©48 36 9 120 267 gl
400mm | 50 35 738 70 808 @50 M20x25 @74 @48 36 9 20 267 @ gl4
500mm | 50 35 838 70 908 ©50 @M20x25 @74 @48 36 9 120 | 267 g4

XE MZ HEMo| 228 U & 2E HMB2 A2 FHO &S Hloto] AR ol uglo] HAE & AFLIC
% The contents of this manual and all product specifications ar e subject to change without prior notice for quality improvem ent.



*| =% Dimension (mm)

G 7t0|EEtR! Guide type

u

]
Ll

u
UL 2O

2x2-N

S(Stroke)

AERF PHBO062 G

Stroke | A B C D E F G H | N K L M N
100mm | 48 18 164 62 146 a2 132 a4 18 30 68  ©85 M8 M6
200mm | 48 18 164 62 146 a2 132 a4 18 30 68 ©85 M8 M6
300mm | 48 18 164 62 146 a2 132 a4 18 30 68 @85 M8 M6
400mm | 48 18 164 62 146 a2 132 a4 18 30 68 @85 M8 M6
500mm | 48 18 164 62 146 a2 132 44 18 30 68 @85 M8 M6
ArERT PHB08O G

Stroke | A B c D E F G H [ J K L M N
100mm | 48 18 184 80 166 58 152 44 138 | 30 80 @9 M8 M6
200mm | 48 18 184 80 166 58 152 a4 138 | 30 80 29 M8 M6
300mm | 48 18 184 80 166 58 152 a4 138 | 30 80 29 M8 M6
400mm | 48 18 184 80 166 58 152 44 138 | 30 80 29 M8 M6
500mm | 48 18 184 80 166 58 152 a4 138 | 30 80 29 M8 M6
ArERT PHB100 G

Stroke | A B C D E F G H [ J K L M N
100mm | 70 20 204 100 | 182 78 172 58 140 40 80 o11 MIO M8
200mm | 70 20 204 100 182 78 172 58 140 40 80 o11 MIO M8
300mm| 70 20 204 100 | 182 78 172 58 140 40 80 o11 MIO M8
400mm | 70 20 204 100 182 78 172 58 140 40 80 o11 MIO M8
500mm | 70 20 204 100 | 182 78 172 58 140 40 80 o11 MIO M8
AERT PHB120 G

Stroke | A B C D E F G H | N K L M N
100mm | 70 20 24 120 202 98 192 78 160 60 96 | @14 MO0 M8
200mm | 70 20 224 120 202 98 192 78 160 60 9% @14 MO M8
300mm | 70 20 24 | 120 202 98 192 78 160 60 9% @14 MO M8
400mm | 70 20 24 120 202 98 192 78 160 60 % @14 MO M8
500mm | 70 20 24 | 120 202 98 192 78 160 60 9% | @14 MO M8

*E HEZ MO £2E LS Y DE MBQ| AJS Bl HAS 9I510f AR 00| HZE 4 UsLICH
x The contents of this manual and all product specifications ar e subject to change without prior notice for quality improvem ent.

17



= Dimension of Mount Bracket (mm) = Smart Actuator

=)
Mo
|
|
)
P
N
i\

FF =zc= =zax oike Flange on load side

1] “
1

=

i )

ER ) X|4= Dimension (mm)

Body Size A B C D E F
0062 110 62 90 42 12.5 a9
0080 128 80 108 60 12.5 a9
0100 150 100 125 76 16 on
0120 172 120 147 96 16 Q14

FM = o}2E Foot mount

|
Jﬂq |

2-|

p— e

V7N T HiRRESsE
e - . i - )
] | =TT =
LE N
D
syl X|4= Dimension (mm)
Body Size A B @ D E S G H | J K L M N
0062 62 72 41 34 22 44 20 10 R4.5 85 104 @85 12 36
0080 80 92 52 36 24 62 20 12 R4.5 105 124 @85 14 45
0100 100 125 75 45 30 80 24 15 R5.5 124 146 o1 17 51
0120 120 145 85 45 30 96 28 15 R&IS 144 166 o1 17 66




19

T E B

»y

Z] <+ % Dimension of Mount Bracket (mm)

FSL ==zt = n}2E Axis right angle foot mount

& czl .
| | |
- &l |
U | 1 °
& &
B
! ! ’—‘ 1 f
JE =
A [ e — | =
| | D)
1w ] 1]
A |.0.| 1.0,
g X|4= Dimension (mm)
Body Size A B C D E =
0062 104 20 85 20 10 29
080 124 20 105 28 12 29
0100 146 24 124 35 14 o
0120 166 28 144 40 16 o1
TRN EzU9 Of2E Trunnion mount
A
B8
G LRI
A
: CHHE  TRN-M
@' \ j ’—‘ )
g ﬁj\ g WW A E@r\@g A M \
N\Z \éLuL YVEe———==prTo—— =y
| ! )
Center
E F
TRN-M
B X|% Dimension (mm)
Body Size A B C D E E
0062 122 98 #10 #15 1.5 15
0080 140 116 #10 #15 1.5 20
0100 172 142 #15 $20 15 315
0120 192 162 #15 $20 15 49




s - A2 £ % Electric Cylinder Purpose of Use = Smart Actuator

> Conveyor Push > Conveyor Push > Conveyor

o
p—.

> Syringe Injection > Bottle Guide Height Change > Switch Test (Right)

o g
-

+ W

> Smart Actuator > Resolute Position Motion > Switch Test (Trimetric)

o [ ]
—— T
> Conveyor High > Work Fix > Conveyor Verticality (Trimetric)

20



offt
ik
re
AN
12
ofo
M

ok Electric Cylinder Applications

| Position, Fill, Assemble

* Printing

* Part Verification
* Precision Filing
* Stamping

* Pressing

* Labeling

| Gating, Sorting

* Rejection
* Guiding

* Guide rail width change

I Applying, Dispensing

* Spraying

* Cutting

* Slitting

¢ Test Fixtures
* Inspection

* Filing Nozzle Positioning

| Storage, Retrieval

* Parts Transfer
* Pick & Place
* Stacking

* Sorting

* Palletizing/De—palletizing




Bevel Gearbox 4 & A 79 AH3 Precautions on Apply to Bevel Gearbox

I_' Smart Actuator

Mg Al FoARt

Phom> r@r oo
glﬂg%MmM

B Assembling the cylinder forcibly to
the frame to be attached may cause
eccentricity of the rod, which can
seriously affect cylinder life.

B ROD £ F=201 /I%IgH LIAIS 0|&3H

B U EQ5 AFo 2 A2 B Most importantly, if the cylinder
o 0| SX||X| ¢to™H is not leveled, it will cause noise
AS0 Fi=so| elo| Eluct, and vibration,
ALIGNMENT
orH OJAto| 31M 2 &512 7|AHI2 =3t5t f ==0| When combining two or more roteting and liting machines,
=i =2 cimHAH 2| s1=o| XIS} Hie == heymustbe arranged in such a way that the center of
|1 HiSS, S < H“?'I S 5t&el R =0l E)I—.—O'I = rotation and elevation center line are aligned exactly so
aF 2= UEE M7t 31X 2 S518 SAMO0| Fts| UX| that the twisting, thermal expansion and bearing load of

the axis of motion can be properly distributed.

B Be careful not to twist by bolt when
assembling upper and lower part.

2+ A2IHQO| LEVELS

4

Keep the level of each cylinder the same with the screw located at the end
of the rod. If level is not maintained, may occur overload to motor.

SLSHA RXIELCH
LEVELO| RX|=X| 2= Al Hots X! HE{2| Ip& st F40]
Loid & USLICE
|
s .‘. —rl

HMEZ HEl (o) Application Type (Example)

22



PISCO.

U§l;n u‘]Uﬁ§UI’m aS'lnSﬂ 5’Iﬁﬂ @ :@nande.eintertrade
NANDEE INTER-TRADE CO,,LTD, | f :nonecimerwde

¥ : marketing@nandee.co.th

314,316,318,320,322 wasdunti32 auudunii LLmaavjq‘Yﬂmau LWAEINT NN, 10120
Tel : 0-2675-8230 (Auto), 0-2675-8240 (Auto) Fax : 0-2212-1448, 0-2213-0360 @ :www.nandee.co.th




